Prodig

* 8 pinch valves
« 8 filter discs
* 1 insertion tool

1081221 Pinch Valve Kit

1057260
Wear Block Kit
» 2 wear blocks

1081976

« 2 O-rings Pinch Valve Upgrade Kit
* 1 pinch valve body
* 4 pinch valves
1057262 Upper Y * 4 O-rings
Manifold Kit Assembled
* 1 manifold Use to upgrade older pumps
» 1 gasket to new style body and pinch
valves.
1614438
1057258 Enhanced Pinch Valve
Manifold Kit

Fluidizing Tube Kit
* 4 fluidizing tubes

* 8 O-rings

*Parts included in kit.
1078161 1620050
Check Valve Prodigy HDLV Pump
Service Kit Service Kit

» 2 check valves
(for Generation 2 pumps)

“Parts included in kit.

1078151

Check Valve

Upgrade Kit

» 2 access plugs

» 2 check valves

« 2 connectors

* 6 O-rings

Use to upgrade older
pump check valves to
Generation Il check valves

y® HDLV® Generation Il Powder Pump

1081194 Pump, HDLV, Generation Il

941113 O-Rings 1078151

—— Check Valve
Upgrade Kit

940142 O-Rings

I
I

I

I

I

I

4940137 O-Rings :
(1057258 Kit) :
A*Fluidizing Tubes

(1057258 Kit) 983035 Flat Washers, M5

4%1613040
Gasket
A*Filter Discs
(1081221 Kit)
-
) R
*940137 O-Rings
o
1053234 Gasket O/

(1057262 Kit)

Upper Y Manifold
(1057262 Kit)

1053293 Screws, M5 x 100
983401 Lock Washers, M5

Nordson

4*1053292 O-Rings
°°4/'/ 9

4*1614272

I
|
I
I
|
I
: Pinch Valve Body
I
I
|
I

1081976

Upgrade Kit

A*Pinch Valves
(1081221 Kit)

Wear Blocks
(1057260 Kit)

*1052790 Lower Manifold

*982085 Screws, M5 x 25
*983401 Lock Washers, M5
*983035 Flat Washers, M5

RN

For complete parts and service information

refer to manual 1081195.

Nordson Product Manuals are available on

the internet at http://emanuals.nordson.com

1062070 —

Retaining Nuts

1078006 Adapter
Optional, for Flexible Tubing

Nordson Finishing Customer Support Center
(800) 433-9309 * Email: finishing_csc@nordson.com
www.nordson.com

© 2020 Nordson Corporation

All Rights Reserved

Nordson Deutschland GmbH
Phone: +49-211-9205-0  Email: powder.systems@de.nordson.com
www.nordson-finishing-eu.com Part 1080706-06
Issued 9/25



	Page 1

